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1D a b c

a | —2.6481 x 1073 | 1.0551 x 1072 | —6.2768 x 1073
b | —3.2423 x 1073 | 9.8603 x 10~3 | —3.8763 x 1073
¢ | —2.5990 x 1072 | 8.5969 x 1073 | —1.7156 x 1073
d | —3.6098 x 1073 | 1.1096 x 1072 | —6.5397 x 1073
e | —6.2320 x 1073 | 7.4399 x 1073 | —1.1496 x 1073
f | —2.7273 x 1073 | 1.0553 x 1072 | —6.4110 x 1073
g | —2.9674 x 1073 | 9.5592 x 1073 | —4.2544 x 1073
h | —5.4980 x 1073 | 7.4107 x 1073 | —1.3367 x 1073
i —6.1882 x 1073 | 8.9382 x 1073 | —2.6107 x 1073
j | =7.2689 x 1073 | 7.6763 x 1073 | —1.8924 x 1073
k | —3.8961 x 1073 | 1.0409 x 102 | —5.0769 x 1073
1 —4.2015 x 1073 | 9.9924 x 1073 | —3.9895 x 1073
m | —2.9519 x 1073 | 1.0599 x 1072 | —6.8748 x 1073
n | —3.3121 x 1073 | 9.6281 x 1073 | —3.9718 x 1073
o | —3.5795 x 1073 | 1.0988 x 1072 | —6.2770 x 1073
p | —6.5549 x 1073 | 9.0167 x 1073 | —2.8270 x 103
q | —5.8580 x 1073 | 8.8278 x 1073 | —2.4940 x 1073
r | —6.0473 x 1073 | 8.5021 x 10~3 | —2.0851 x 1073
s | —4.1507 x 1073 | 9.6500 x 1073 | —3.9604 x 103
t | —4.9128 x 1073 | 9.3593 x 1073 | —3.0819 x 1073
u | —5.7446 x 1073 | 7.8417 x 1073 | —1.2492 x 1073
v | —5.1034 x 1073 | 8.9202 x 1073 | —2.5701 x 1073
w | —4.9945 x 1073 | 8.5869 x 1073 | —2.0549 x 1073
x | —2.9802 x 1073 | 9.5396 x 1073 | —4.5592 x 10~3
y | —4.1143 x 1073 | 1.0978 x 1072 | —5.8265 x 1073
z | —4.8075 x 1073 | 9.1801 x 1073 | —3.3418 x 1073
la | —6.9608 x 1073 | 8.3729 x 1073 | —2.3103 x 103
Ib | —6.4226 x 1073 | 7.1318 x 1073 | —9.6801 x 10~*
le | —=5.1261 x 1073 | 9.1261 x 1073 | —2.7625 x 1073
Id | —=5.7528 x 1073 | 9.5194 x 1073 | —3.1995 x 103
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